October 6, 2021

SuysTems oF FQUATINS Toeview

Subsfﬁluﬁ”":
5x- Z(j’:-"fg =7
X + 4u=s (%




October 6, 2021

uaflons

Madrix Eguatives
5x- 2y=-48 (%, [3 - ][43

IX + ‘1(9“ |3
[%]%m E‘s“% [

-1924 36
+(4y +90

J_

b

= 1 \-156
R | 23Y T

_ [—q(o} %),




October 6, 2021

2pde +Ay~2= 7 ©-0x-8y f%Z/éj 5
4'0\[3x_ 5” ~22= —-13 %X—S”— 2= -
= - X~ = -27

7 X -1-3, +9/=2= 2| & 37’

3X+1e-%z2 = 8
@SEX-B}/‘-"‘ﬂ 2rtytHEe= 21

ISkttay = 17 ISK+Ty =49

= \S/k = \AS¢y = -Y405
\{x)\\'\-l?ﬁ:%a\ @'X-"y =-a]
= = -356 ~ X =13(2) =

,-|77#’ :—l—?—i

- 179

=
v.gg/q/“\@ﬂlf‘(y‘-2=7
LA VA aM t4) 2=
dt9 -2=7




October 6, 2021

Amaes Rue
AL T xA~Z— 7
3)(_ 5” ~22= ""13
72X -]-3_ +1=z= 2|

\‘2 o% '7\
s -S -13
_\17 ¢ 2\ _ -5 -2 \35
Z= ‘?‘f 4, 7+ T

@ '!’
‘{ a (=20+2) -4 ((2419) 4 -l (3+35)

|
! 2 (=19) -y (26) —1(39)

~3(»-'0" -39 =|-178/

cld(E--

/Sea.z,em (46

oQ %wu-’?-l (




